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1. MyxuiH morown (Regional snake) XKuwass 600020 Xapuy

Xerner O93p Har Morom 3yp. Yr mMoron
Hb XOnrnH HYAHYYAUWAT X3BT33, 60C00
unrnang davpax Gereen OuaroHanuinH
paryy pgavipaxryn. Moron  eepTtee
XYPOSITYN (QMaroHanumH xyebd 4 Tap)
6aviHa. MoroH Tonron (H-head), cyyn
Hb (T-tail) ereraceH. Togoop XypaancsH
MYX 6ypa VXKunn TOOHbI HYASHA MOTOWMH
xacar (bygaracar) 6anHa.

Draw a snake in the grid. The snake goes from cell to cell vertically or horizontally, but not diagonally. The
snake does not touch itself, not even diagonally. Head and tail are already given. Each region contains the
same number of cells occupied by snake.
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2. MyXvAH TEeTPOMMUHOHYYA

(Regional tetrominoes) Kuwas 600771020 Xapuy

Xener O33p TETPOMUHOIMAH 7
aypcvnr byramnr He Ganpnyyn.
Aypcyyn apracsH Gax 6onox
Y TONMWH ONNT XUIMK OOMOXryW.
Myx ©Oypa ar Har TeTpoMMHO
GarHa. TeTpoMuHOHYYA
X0OPOHO00 Tan GonoH
OpOMroopoo  (AMaroHanbAax)
Xyp4arryn 6anHa.

Place all 7 tetrominoes in the grid. They may be rotated but not reflected. There is exactly one tetromino in
each region. Tetrominoes may not touch each other not even diagonally.
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2. 3 oHOO

Banpnyynax TeTpOMUHOHYYA:

3. Mactoy (Masyu)

XernrunH 3apm HyYAHYYOUIAH TOBUNT X3BT33 O0MOH XKuwass 6o0nozo Xapuy
00C00 Yurnang AamxuH (avaroHanbOaxrym) Har
HY439 HAr 1 ygaa ganmpax OuTyy 3ambIr 3yp.
Xapaap OygcaH Hygunr sH3 3amp aluurmnaxryin.
Butyy 3am 6yx gyrynHyyabir ganpcaH 6anx éCTon.
LlaraaH gyryntam Hyauir 3am LynyyHaap gavpax
Dereeq xepLl HYOHYYAUNHX Hb JOP XashK HAr 433p
3aaBan 90° apranT xunHa. Xap Jyryitam Hya3HA 0|0 ® Q0 ®
3am 90° 3pranT XMraag 3amblH YUIMANUAH aaryyx
H3I, HAr HYOUNT WynyyHaap gavpax écton. 3am
©6pTaNree OrTNonuoXryn, AaBXUaxrym. O O

Draw a single loop that travels horizontally and vertically between centers of some cells such that the loop
does not visit any cell more than once. The black cells cannot be used by the loop. At every cell containing a
white circle the loop must pass straight through that circle and make a 90 degree turn in at least one of the
cells adjacent to the circle. At every cell containing a black circle the loop must make a 90 degree turn and
\_ travel straight through both cells adjacent to the circle. )
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3-1. Macroy 4 oHoO 3-2. MyxuiiH macroy 4 oHoO

MactoyrminH aypam yrunyamnnHa. Togoop XypasancaH
MyX Oypa ar gepeH 90°-bIH 3pranT 6anHa.
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4. MyxunH akapum (Regional akari)

XenrvnH  6yx Hyaunr rapanTtyymx ©Ganxaap Xuwas 600020 Xapuy
3apuM  HYOHYYOS4 YMWAAdH (HOr YUMAOSH  HIr
HygaHAa) 6anpnyyn. YniasHryya WwynyyH yarnang OJ_ O
(Tawyyngaxryn) xap Hyg3HO XYpPTNa3, 3CBaN
XOITUWH 3axag XYPTan rapantyyrnHa. YunasHryyg _I

04

Obve ©Oues rapanTyymk OGonoxryn. Togoop I O 100

XYP335IC3H My>K OYpA KNI TOOHbI YNnasH GarHa. o
O

Place lightbulbs in some cells (one lightbulb per <
cell) so that all cells in the grid are lightened. O
Lightbulbs can give light in straight lines until the O |
rays meet a black cell or the edge of the grid.

Lightbulbs should not lighten each other. All the Caapan x3pymasp rapruiH
regions contain the same number of lightbulbs. Lauparviir Tamaarnas.

. /

4, 4 oHOO

BooonTtoo Xnnxaaa 3eBX6H YNNOSHTYYOUAT
(ayryn) 6avpnyynaxag xaHrantTtaw. FapnuiH
Lauparyyabir 3ypax waapgnararyw.
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5. MyxunH wypaH apan (Regional

coral) XKuwaa 60011020 Xapuy

XenrviiH 3apuM HYAHYYAUAT LIYP3H 1 1 1 1

apan yycraH xapaap 6ya. LypsH 4 2 1 3 4 2 1 3
apnblH Xap HyaHyy4 Hb XxonborgcoH
XaHa vyycrax Oamx écton. Xap 1 1
HYOHYYD 2X2  KBagpat  YYCrax
Gonoxryn. MeH Gyx uaraaH HyaHyya
Hb XONnTUNH 3axTan xonboragor barx 11 11
éctoni. Oepeep xanban Tanaapaa 22 22
XepL uaraaH HygHYYAWAr gamxcaap
anb Y LaraaH Hyauinr xenrunH 3axag
XYPrax 3am onggor racaH yr. 3 3

XenrviH ragHax TOOHYYA Hb Xapransax Mep, 6araHa Aaxb LWYP3H aprblH YPrafKUIICAH XACryyauir UNnTrax
Gereep raxaas xacryya Hb TOOHyyaAblH GarpnacaH gapaannaap 6anx anbaryin. YprarmkuncaH X0€p XACrMmnH
XOOPOH[ OOP Xashk HAr XOOCOH Hya GariHa. Togoop XypaaricaH My»yyaan WKUIM TOOHbI Xap HyAd GaiHa.

Blacken some of the cells in the grid to create a coral. All black cells in the coral must be orthogonally con-
nected. There must be no 2x2 squares of black cells. And all white cells must be connected to the edge of the
grid. The numbers on the edge indicate the lengths of successive blocks of coral cells, but not necessarily in
the correct order. There must be at least one blank cell between two blocks. All the regions contain the same
\_ number of black cells. )

5. 5.5 oHOO
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6. Pytowmkm (Futoshiki)

6-1 nassng 1-6, 6-2 nassng 1-9 ToOHyyabIr
XenrmnH wmep, ©OaraHa Oypg AaeTargaarym
Oanxaap Hexex Omy. XenrniH AOTOpPX yuryyn
Hb (Mx, GarblH Tamaryyn) xapransax Xoép
HYOHUAX33 UMAPYYOSA XYYMHTON, 3eB Oaix
€CTOMN.

Fill the grid with digits 1-6 (in Puzzle 6-1) and
with digits 1-9 (in Puzzle 6-2) so that each digit
appears exactly once in every row and column.
Clues inside the grid represent the relations
between the digits in the neighbouring cells.

Xuwas 6odrnoeo
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7. AncaH uar (Sandglass)
ONC3H LarnH X00COoH HYOHYYA3A AaBTargaaryi XKuwass 6o0noeo Xapuy
TOOHYYAbIr HEXEX B14Y. Har MepuiiH xepLl Xoép
HYO9H 09X TOOHYyAblH HUWANO3p [JapaarvmnH 4 ) 7 4
MOPUWIH Xaprana3ax HyA3H OM4nraaHa.
Place numbers in all the empty cells so that no 9 |11
number is repeated in the sandglass. Sum of 20 20
two adjacent numbers in a row is written in the
next row closer to the center of the sandglass in 6|14
the cell placed next to both numbers. 5 5 1113
7-1, 7-2 na3anyyo 6-p Hyypm

/
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7-1. 2.5 0Hoo 7-2. 3 oHOO
5 10
15 15
20
45
88
17
6 16
19
7
8. Tootom myxyyan (Numbered h
regions) XKuwas 600noeo Xapuy

3ypar pasp ereraceH 20 myxug 1-20
TOOHYyabIr  Gavpnyymk  6uu. Too n
pastargaxryn. Caapan Hyg 43X TOOHyyA

Hb 9H3 HYATAM Tanaapaa XepLl MYXyyn
Aaxb TOOHYYAbIH HUANG3punr 3aaHa. (Myx
OYPWUIH TOOHYYAbIM HAr 1 y4aa HAMHS.)

There are 20 regions outlined in the map.
Assign one number from 1 to 20 to each
region so that each number is used exact-
ly once. The numbers in the shaded cells
indicate the sum of the numbers in regions
sharing at least one side with this cell (each
region is counted just once in the sum).

8. 8.5 oHoO

BoponToo XUNXO33
_m . KULLSI ©opanorop,

XapyyncaH Lwur MyXunr
TOOroop AYYPranryn, My>x
A0TOp Har 1N Too buunxag
XaHranTtTan.
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9. fhxunuH (Yajiling)

XenrunH  3apum  HygHyyauir Oypaag, XKuwaa 600020 Xapuy
Aapaa Hb yuurtamraac (Too, cym Oyxun)
Oycap 6yx Oygarryn Hyauir ganpcax omTyy
3am 3yp. Yuryyn Hb Cym 3aacaH 4urmnang
X309H OypargcaH Hyn GanxbIr UATIaHS.
BynaracaH HyoHyy4 XOOpPOHA0O Tanaapaa
Xypy Gonoxryn. Yuurtai HyaHyyouiar ]_1‘ 1\1, 11‘ :N,
Oynoaxryn, MeH GUTyy 3amp OpOXIyu.

Shade some cells of the grid and draw a
loop which passes through all unshaded
cells except those containing clues.

Each clue consists of a number and an arrow and indicates the number of shaded cells in the direction point-
ed by the arrow. Shaded cells cannot touch each other horizontally nor vertically. Cells with clues can not be
\ shaded and are a not part of the loop.

/

9-1. 3 oHOO 9-2. 3.5 oHOO
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10. Cyrypy (Suguru)

XYCH3rTUH Hya 6ypa ToO OGUYHA3. XKuwas 600020 Xapuy
N HyaHa3c Oypaax myx (Togoop
XYP33rIC3H) 1-N TOOHYyAbIr 4 3
aryyncaH ©Ganmx écTton. Wbkun
TOOHYYyA Tan 60roH OpoMroopoo 2 1
XOOPOHA00 Xyp4y 6OMNOXryin.

Place a digit into every cell. Each
outlined region must contain each 2
digit from 1 to the number of cells
in that region. ldentical digits can- 4 2
not touch, not even diagonally. 2 1

| AR [INJTWIN
| AR, [DINTW

| DNl JUIN|W

NITW[IN|D|R]D
WINTW | D= D
WIN | W U= ]| Ul

10-1, 10-2 Oysaap na3anyyod 8-p Hyypm
- /
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10-1. Cyrypy 3.5 oHoO 10-2. lnaroHanb cyrypy 1.6 oHoO

CyrypyrmnH  gypmasp 6og. MeH 3H3
fopnorbiH XyBbf, Tacapxaw Lyramaap
5 4 6 TOMOSIMISCOH  AMaroHanunH  garyyx
HYAHYYA34 TOO AaBTargaxryimr aHxaap.

Bantran Ne3-biH 6040NTO0 MNF33X SLCUINH Xyravaa:
2022/06/09-Hun NMypaB rapart YnaaH6aatapbiH Laraap 14:00-aac emHe

puzzle@igcenter.mn M3ann pyy UNrasaHa vyy.

TaHg amxnnT XYyCbe.
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